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[ Spatialld OO O O O O O O (check constraint). SQL> connect
scott/tiger Connected. SQL> 0drop table footprints. Odrop table
footprints * ERROR at line 1: ORA-00942: table or view does not
exist SQL> create type footprint_type as object( geometry
sdo_geometry, name varchar2(32) ). 23456/ Type created. SQL>
create table footprints( footprint footprint_type, time timestamp,
constraint validsrid check (footprint.geometry.sdo_srid = -1),
constraint validgtype check (footprint.geometry.sdo_gtype = 2004
or footprint.geometry.sdo_gtype=2007) ). 2345 6 Table created.
SQL> insert into footprints values( footprint_type(
sdo_geometry(2004, 8307, null, sdo_elem_info_array(1, 1003, 1),
sdo_ordinate_array(2,4,4,3,10,3,2,4)), validate srid constraints), 2
sysdate ). 34 56 7 8 insert into footprints values( * ERROR at line 1:
ORA-02290: check constraint (SCOTT.VALIDSRID) violated
SQL> insert into footprints values( footprint_type(
sdo_geometry(2003, -1, null, sdo_elem_info_array(1, 1003, 1),
sdo_ordinate_array(2,4,4,3,10,3,2,4)), validate gtype constraints), 2
sysdate ). 3456 7 8 insert into footprints values( * ERROR at line 1:
ORA-02290: check constraint (SCOTT.VALIDGTYPE) violated
SQL> insert into footprints values( footprint_type(
sdo_geometry(2004, -1, null, sdo_elem_info_array(1, 1003, 1),
sdo_ordinate_array(2,4,4,3,10,3,2,4)), 2 validate srid constraints),



sysdate ). 3456 7 8 1 row created. SQL> Oselect * from
footprints. FOOTPRINT(GEOMETRY(SDO_GTYPE, SDO_SRID,
SDO _POINT(X,Y, Z2),SDO_ELEM_INFO,

----------------------------- FOOTPRINT_TYPE(SDO GEOMET
RY (2004, -1, NULL, SDO_ELEM_INFO_ARRAY(1, 1003, 1),
SDO_ORDINATE_ARRAY(2,4,4, 3,10, 3, 2, 4)), validate srid
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